

## Nonclassical Symmetry Reductions for Coupled KdV Equations

Suping Qian <sup>1</sup>

Department of Mathematics, Changshu Institute of Technology,  
 Changshu, Jiangsu, 215500, China

(Received 18 July 2006, accepted 15 September 2006)

**Abstract:** In this paper, by using the nonclassical method, several new symmetries and solutions are obtained, which are unobtainable by Lie classical symmetries.

**Key words:** the coupled KdV equations; nonclassical symmetry; symmetry reduction

### 1 Introduction

The investigation of the exact solutions of nonlinear evolution equations play an important role in the study of nonlinear physical phenomena[1, 2, 3, 4]. The most famous and established method for finding exact solutions of differential equations is the classical symmetries method, also called group analysis, which originated in 1881 from the pioneering work of Lie [5]. Many good books have been dedicated to this subject and its generalizations [6, 7, 8, 9]. The nonclassical method of reduction was devised originally by Bluman and Cole in 1969, to find new exact solutions of the heat equation[10]. The nonclassical symmetries method consists of adding the invariant surface condition to the given equation, and then applying the classical symmetries method. The main difficulty of this approach is that the determining equations are no longer linear. On the other hand, the nonclassical symmetries method may yield more solutions than the classical symmetries method. This approach has been successfully applied to various equations [11, 12], for the purpose of finding new exact solutions.

The Painlevé classification of coupled Korteweg-de Vries (KdV) equations was made recently in [13], and the following new system possessing the Painlevé property was found there:

$$\begin{aligned}\Delta_1^{(3)} &\equiv u_t + (u_{xx} + u^2 + uv)_x = 0, \\ \Delta_2^{(3)} &\equiv v_t + (v_{xx} + v^2 + uv)_x = 0.\end{aligned}\tag{1.1}$$

In this paper, for a new integrable coupled KdV system (1.1), by using the nonclassical method, one obtain several new solutions which are not invariant under any Lie group admitted by the equations and consequently which are not obtainable through the classical Lie method.

### 2 Nonclassical symmetries

In this section, we derive the determining equations for the nonclassical symmetries of the coupled KdV equation system (1.1) via compatibility. The basic idea of the method is to require that the Eqs.(1.1) and the invariance surface condition:

$$\begin{aligned}\Delta_3^{(1)} &\equiv \xi(x, t, u, v)u_x + \tau(x, t, u, v)u_t - \phi(x, t, u, v), \\ \Delta_4^{(1)} &\equiv \xi(x, t, u, v)v_x + \tau(x, t, u, v)v_t - \varphi(x, t, u, v),\end{aligned}\tag{2.1}$$

<sup>1</sup> E-mail address:qsp@cslg.edu.cn

which is associated with the vector field:

$$\underline{v} = \xi(x, t, u, v) \frac{\partial}{\partial x} + \tau(x, t, u, v) \frac{\partial}{\partial t} + \phi(x, t, u, v) \frac{\partial}{\partial u} + \varphi(x, t, u, v) \frac{\partial}{\partial v} \quad (2.2)$$

are both invariant under the transformation with infinitesimal generator (2.2). By requiring that both (1.1) and (2.1) are invariant under the transformation with infinitesimal generator (2.2) one obtains an over-determined, nonlinear system of equations for the infinitesimals  $\xi(x, t, u, v)$ ,  $\tau(x, t, u, v)$ ,  $\phi(x, t, u, v)$  and  $\varphi(x, t, u, v)$ . The number of determining equations arising in the nonclassical method is smaller than for the classical method. Consequently, the set of solutions is in general, larger than for the classical method as in this method one requires only the subset of solutions of (1.1) and (2.1) to be invariant under the infinitesimal generator (2.2).

To obtain nonclassical symmetries of (1.1), we apply the algorithm described in [15] for calculating the determining equations. The determining equations for the nonclassical symmetries of the system(1.1) are obtained by requiring the governing equation as follows:

$$pr^{(1)} \Delta_i^{(1)} \big|_{\Delta_j^{(1)}=0, \Delta_k^{(3)}=0} = 0(i, j = 3, 4)(k = 1, 2), \quad (2.3)$$

$$pr^{(3)} \Delta_i^{(3)} \big|_{\Delta_j^{(1)}=0, \Delta_k^{(3)}=0} = 0(i, k = 1, 2)(j = 3, 4). \quad (2.4)$$

The equations in (2.3) are satisfied identically. The remaining equations lead to a set of equations that must then be solved. For further discussions, we consider some different subcases to partially solve the equations.

We can distinguish two different cases ( in this paper,  $t_i$  ( $i = 0, 1, 2, 3, \dots$ ) are arbitrary constants):

Case 1:  $\tau(x, t, u, v) \neq 0$ . In this case, without loss of generality, we may set  $\tau(x, t, u, v) = 1$ .

Case 1(A):

$$\xi = \frac{x+3t_1}{3(t-t_0)}, \phi = \frac{(1+3t_2)u-3(1+t_3)v}{3(t-t_0)}, \varphi = \frac{-3(1+t_2)u+(1+3t_3)v}{3(t-t_0)},$$

i.e.

$$\underline{v} = \left[ \frac{x+3t_1}{3(t-t_0)} \right] \frac{\partial}{\partial x} + \frac{\partial}{\partial t} + \left[ \frac{(1+3t_2)u-3(1+t_3)v}{3(t-t_0)} \right] \frac{\partial}{\partial u} + \left[ \frac{-3(1+t_2)u+(1+3t_3)v}{3(t-t_0)} \right] \frac{\partial}{\partial v}.$$

This subcase is just the result of classical Lie approach. The corresponding reduction coincides with  $c_2 \neq 0$  of [14] for  $t_0 = \frac{c_3}{3c_2}$ ,  $t_1 = \frac{c_1}{3c_2}$ ,  $t_2 = -\frac{1}{3}(2 + \frac{c_4}{c_2})$ ,  $t_3 = \frac{1}{3}(\frac{c_5}{c_2} - 2)$ . Then, the group invariant solution of the coupled equation system (1.1) takes the form:

$$\begin{aligned} u &= \frac{(1+t_3)}{(1+t_2)(t-t_0)^{2/3}} U(\zeta) - (t-t_0)^{(t_2+t_3+4/3)} V(\zeta), \\ v &= \frac{1}{(t-t_0)^{2/3}} U(\zeta) + (t-t_0)^{(t_2+t_3+4/3)} V(\zeta), \\ \zeta &= \frac{x+3t_1}{(t-t_0)^{1/3}}, \end{aligned}$$

where  $U(\zeta)$ ,  $V(\zeta)$  satisfy the following ODEs:

$$\begin{aligned} U''' &= \left( -\frac{2(t_2+t_3+2)}{1+t_2} U + \frac{\zeta}{3} \right) U' + \frac{2}{3} U, \\ V''' &= \left( -\frac{(t_2+t_3+2)}{1+t_2} U + \frac{\zeta}{3} \right) V' - \frac{(t_2+t_3+2)}{1+t_2} V U' - (t_2 + t_3 + \frac{4}{3}) V \end{aligned} \quad (2.5)$$

and prime denotes differentiation with respect to  $\zeta$ . For first equation of Eqs.(2.5), let  $U(\zeta) = -\frac{(1+t_2)W(\zeta)}{6(t_2+t_3+2)} + \frac{1+t_2\zeta}{2(t_2+t_3+2)}$  and integrates once, then

$$W'' = \frac{(W')^2}{2W} - \frac{\zeta W}{3} + \frac{W^2}{9} + \frac{C}{W}.$$

Case 1(B):

$$\xi = t_0, \phi = t_1 u - t_2 v, \varphi = -t_1 u + t_2 v,$$

i.e.

$$\underline{v} = t_0 \frac{\partial}{\partial x} + \frac{\partial}{\partial t} + (t_1 u - t_2 v) \frac{\partial}{\partial u} + (-t_1 u + t_2 v) \frac{\partial}{\partial v}.$$

This subcase is just the result of classical Lie approach. The corresponding reduction coincides with  $c_2 = 0, c_1 c_3 \neq 0$  of [14] for  $t_0 = \frac{c_1}{c_3}, t_1 = -\frac{c_4}{c_3}, t_2 = \frac{c_5}{c_3}$ , or  $c_2 = c_1 = 0, c_3 \neq 0$  of [14] for  $t_0 = 0, t_1 = -\frac{c_4}{c_3}, t_2 = \frac{c_5}{c_3}$ . Then the solution of the coupled system (1.1) takes the form:

$$\begin{aligned} u &= U(\zeta) + \exp\left(\frac{(t_1+t_2)x}{t_0}\right)V(\zeta), \\ v &= \frac{t_1}{t_2}U(\zeta) - \exp\left(\frac{(t_1+t_2)x}{t_0}\right)V(\zeta), \\ \zeta &= x - t_0 t. \end{aligned}$$

The symmetry reduction equations are

$$\begin{aligned} U''' &= -\left(\frac{2(t_1+t_2)}{t_2}U - t_0\right)U', \\ V''' &= -\frac{3(t_1+t_2)^2}{t_0^2}V'' - \left(\frac{3(t_1+t_2)^2}{t_0^2} - t_0\right)V' - \frac{t_1+t_2}{t_2}(VU)' - \frac{(t_1+t_2)^2}{t_0 t_2}UV - \frac{(t_1+t_2)^3}{t_0^3}V. \end{aligned}$$

Case 2:  $\tau(x, t, u, v) = 0$ . In this case, without loss of generality, we may set  $\xi(x, t, u, v) = 1$ . Similar to Case 1, substituting all the extensions into Eqs.(2.4), we obtain the determining equation for the infinitesimal  $\phi, \varphi$ , but the complexity of this equation is the reason why we cannot solve it in general. Thus we proceed. By making ansatz on the form of functions  $\phi(x, t, u, v)$  and  $\varphi(x, t, u)$  to solve it, ten different subcases are obtained:

Case 2(A):

$$\begin{aligned} \phi &= \left(t_1 + \frac{1}{T}\right)u + t_1 v + \frac{t_1 t_2 x - 2t_4}{T^2}, \\ \varphi &= -\left(t_1 + \frac{1}{T}\right)u - t_1 v - \frac{t_1 t_2 x - 2t_4 + t_2}{T^2}, \end{aligned}$$

i.e.

$$\begin{aligned} v &= \frac{\partial}{\partial x} + \left[\left(t_1 + \frac{1}{T}\right)u + t_1 v + \frac{t_1 t_2 x - 2t_4}{T^2}\right] \frac{\partial}{\partial u} \\ &+ \left[-\left(t_1 + \frac{1}{T}\right)u - t_1 v - \frac{t_1 t_2 x - 2t_4 + t_2}{T^2}\right] \frac{\partial}{\partial v}, \end{aligned}$$

where  $T = (-2t_2 t - 2t_3)^{1/2}$ . Let  $t_2 = 0, t_4 = 0$ , then this subcase is just the result of classical Lie approach. The corresponding reduction coincides with  $c_2 = c_3 = 0, c_1 \neq 0$  of [14] for  $t_1 = -c_5/c_1, t_3 = -c_1^2/[2(c_5 - c_4)^2]$ .

Then the solution of the coupled system (1.1) takes the form:

$$\begin{aligned} u &= T \exp(x/T)U(t) + V(t) - \frac{t_2 x}{T^2}, \\ v &= -T \left[ \exp(x/T)U(t) + \frac{t_1 V(t)}{t_1 T + 1} - \frac{t_2 - 2t_4}{T^2(t_1 T + 1)} \right]. \end{aligned}$$

So the reduced equations of the coupled KdV equation system (1.1) reads:

$$\begin{aligned} U' &= -\left(\frac{1}{T(t_1 T + 1)}V(t) - \frac{2t_1 t_2 T^2 - (t_1 - t_2 - 2t_4)T - 1}{T^3(t_1 T + 1)}\right)U(t), \\ V' &= -\frac{(t_1 T + 2)t_2}{T^2(t_1 T + 1)}V(t) + \frac{(t_2 - 2t_4)t_2}{T^3(t_1 T + 1)}. \end{aligned}$$

Case 2(B):

$$\begin{aligned} \phi &= \frac{t_3(t_3 t + t_4)(u+v)}{t_3 x + t_2 - t_1 t_3(t_3 t + t_4)} - \frac{t_3(t_3 x + t_2)}{2(t_3 x + t_2 - t_1 t_3(t_3 t + t_4))}, \\ \varphi &= -\frac{t_3(t_3 t + t_4 - 1)(u+v)}{t_3 x + t_2 - t_1 t_3(t_3 t + t_4)} + \frac{t_3(t_3 x + t_2 - t_1 t_3)}{2(t_3 x + t_2 - t_1 t_3(t_3 t + t_4))}, \end{aligned}$$

i.e.

$$\begin{aligned} v &= \frac{\partial}{\partial x} + \left[\frac{t_3(t_3 t + t_4)(u+v)}{t_3 x + t_2 - t_1 t_3(t_3 t + t_4)} - \frac{t_3(t_3 x + t_2)}{2(t_3 x + t_2 - t_1 t_3(t_3 t + t_4))}\right] \frac{\partial}{\partial u} \\ &+ \left[-\frac{t_3(t_3 t + t_4 - 1)(u+v)}{t_3 x + t_2 - t_1 t_3(t_3 t + t_4)} + \frac{t_3(t_3 x + t_2 - t_1 t_3)}{2(t_3 x + t_2 - t_1 t_3(t_3 t + t_4))}\right] \frac{\partial}{\partial v}. \end{aligned}$$

Then the solution of the coupled system (1.1) takes the form:

$$\begin{aligned} u &= \frac{(t_3 x + t_2) - t_3(x + t_1)(t_3 t + t_4)}{t_3(t_3 t + t_4)}U(t) - V(t) + \frac{t_3 x + t_2}{2(t_3 t + t_4)}, \\ v &= xU(t) + V(t). \end{aligned}$$

Then the reduced equation of coupled KdV equation system (1.1) become:

$$\begin{aligned} U' &= -\frac{(2U + t_3)U}{t_3 t + t_4}, \\ V' &= \left(t_1 - \frac{t_2}{t_3(t_3 t + t_4)}\right)U^2 - \frac{2 + t_3}{2(t_3 t + t_4)}V - \frac{t_2}{2(t_3 t + t_4)}. \end{aligned}$$

So the coupled KdV equation system (1.1) possesses the exact solutions as follow:

$$u = \frac{t_6}{(t_3^2 t_5 t + t_3 t_4 t_5 - 2)^{1/2}} + \frac{t_5(t_3 x + t_2) - 2t_1}{t_5(t_3^2 t_5 t + t_3 t_4 t_5 - 2)},$$

$$v = -\frac{t_6}{(t_3^2 t_5 t + t_3 t_4 t_5 - 2)^{1/2}} + \frac{(t_3 t_5 - 2)[t_5(t_3 x + t_2) - 2t_1]}{2t_5(t_3^2 t_5 t + t_3 t_4 t_5 - 2)}.$$

Case 2(C):

$$\phi = \frac{t+t_1+t_2}{t_2 x+t_3} u + \frac{t+t_1-t_2}{t_2 x+t_3} v - \frac{1}{2c_2},$$

$$\varphi = -\frac{t+t_1}{t_2 x+t_3} u - \frac{t+t_1-2t_2}{t_2 x+t_3} v + \frac{1}{2c_2}.$$

i.e.

$$v = \frac{\partial}{\partial x} + \left[ \frac{t+t_1+t_2}{t_2 x+t_3} u + \frac{t+t_1-t_2}{t_2 x+t_3} v - \frac{1}{2c_2} \right] \frac{\partial}{\partial u}$$

$$+ \left[ \frac{t+t_1+t_2}{t_2 x+t_3} u + \frac{t+t_1-2t_2}{t_2 x+t_3} v - \frac{1}{2c_2} \right] \frac{\partial}{\partial v}.$$

The solution of the coupled system (1.1) takes the form:

$$u = \frac{(t_2 x + t_3)^2}{t_2^2} U(t) + \frac{(t_2 x + t_3)}{t_2} V(t),$$

$$v = -\frac{(t_2 x + t_3)^2}{t_2^2} U(t) - \frac{(t_2 x + t_3)(t + t_1)}{t_2(t + t_1 - t_2)} V(t) + \frac{t_2 x + t_3}{2t_2(t + t_1 - t_2)}.$$

The symmetry reduction equations are

$$U' = \left( \frac{3t_2}{t+t_1-t_2} V - \frac{3}{2(t+t_1-t_2)} \right) U,$$

$$V' = \frac{2t_2}{t+t_1-t_2} V^2 - \frac{1}{t+t_1-t_2} V.$$

The exact solution of the system (1.1):

$$u = \frac{t_4(t_2 x + t_3)^2}{t_2^2 [t_5 t + 2t_2 + t_5(t_1 - t_2)]^{3/2}} + \frac{t_2 x + t_3}{t_2 [t_5 t + 2t_2 + t_5(t_1 - t_2)]},$$

$$v = -\frac{t_4(t_2 x + t_3)^2}{t_2^2 [t_5 t + 2t_2 + t_5(t_1 - t_2)]^{3/2}} - \frac{(t_2 x + t_3)(t + t_1)}{t_2(t + t_1 - t_2) [t_5 t + 2t_2 + t_5(t_1 - t_2)]} + \frac{t_2 x + t_3}{2t_2(t + t_1 - t_2)}.$$

Case 2(D):

$$\phi = t_1(u + v) - \frac{t_1 t_2 x + t_1 t_3 - t_2}{2t_2 t + t_1},$$

$$\varphi = -t_1(u + v) - \frac{t_1 t_2 x + t_1 t_3}{2t_2 t + t_1}.$$

i.e.

$$v = \frac{\partial}{\partial x} + \left[ t_1(u + v) - \frac{t_1 t_2 x + t_1 t_3 - t_2}{2t_2 t + t_1} \right] \frac{\partial}{\partial u}$$

$$+ \left[ -t_1(u + v) - \frac{t_1 t_2 x + t_1 t_3}{2t_2 t + t_1} \right] \frac{\partial}{\partial v}.$$

The solution of the coupled system (1.1) takes the form:

$$u = xU(t) + V(t), v = -\frac{t_1 x - 1}{t_1} U(t) - V(t) + \frac{t_1(t_2 x + t_3 - t_2)}{2t_1(t_2 t + t_1)}.$$

The symmetry reduction equations are

$$U' = -\frac{2t_2}{2t_2 t + t_1} U, V' = -\frac{1}{t_1} U^2 - \frac{t_1 t_3 - t_2}{t_1(2t_2 t + t_1)} U - \frac{t_2}{2t_2 t + t_1} V.$$

The exact solutions of the coupled KdV equation system (1.1) are obtained:

$$u = \frac{t_4 x}{2t_2 t + t_1} + \frac{t_4(t_4 + t_1 t_3 - t_2)}{t_1 t_2(2t_2 t + t_1)} + \frac{t_5}{(2t_2 t + t_1)^{1/2}},$$

$$v = \frac{(t_2 - t_4)x}{2t_2 t + t_1} - \frac{t_4(t_4 + t_1 t_3 - 2t_2)}{t_1 t_2(2t_2 t + t_1)} - \frac{t_5}{(2t_2 t + t_1)^{1/2}} + \frac{t_1 t_3 - t_2}{t_1(2t_2 t + t_1)},$$

Case 2(E):

$$\phi = \frac{(1+t_1)(u+v)}{t_1 x + t_2}, \varphi = -\frac{u+v}{t_1 x + t_2}.$$

i.e.

$$v = \frac{\partial}{\partial x} + \frac{(1+t_1)(u+v)}{t_1 x + t_2} \frac{\partial}{\partial u} - \frac{u+v}{t_1 x + t_2} \frac{\partial}{\partial v}.$$

The solution of the coupled system (1.1) takes the form:

$$u = xU(t) + V(t), v = -\frac{x-t_2}{1+t_1} U(t) - V(t).$$

The symmetry reduction equations are

$$U' = -\frac{2t_1 U^2}{1+t_1}, V' = -\frac{(t_1 V + t_2 U)U}{1+t_1}.$$

The exact solutions of the coupled KdV equation system (1.1) are obtained:

$$u = \frac{(1+t_1)x}{2t_1 t + (1+t_1)t_3} + \frac{t_4}{[2t_1 t + (1+t_1)t_3]^{1/2}} + \frac{(1+t_1)t_2}{t_1 [2t_1 t + (1+t_1)t_3]},$$

$$v = -\frac{x}{2t_1 t + (1+t_1)t_3} - \frac{t_4}{[2t_1 t + (1+t_1)t_3]^{1/2}} - \frac{t_2}{t_1 [2t_1 t + (1+t_1)t_3]}.$$

Case 2(F):

$$\phi = \frac{u-v}{x-t_0}, \varphi = \frac{2v}{x-t_0},$$

i.e.

$$\underline{v} = \frac{\partial}{\partial x} + \left(\frac{u-v}{x-t_0}\right) \frac{\partial}{\partial u} + \left(\frac{2v}{x-t_0}\right) \frac{\partial}{\partial v}.$$

The solution of the coupled system (1.1) takes the form:

$$u = (x - t_0)(U(t) - xV(t)), v = (x - t_0)^2 V(t).$$

The symmetry reduction equations are

$$U' = -2U^2 + t_1 UV + t_1^2 V^2, V' = 3t_1 V^2 - 3UV.$$

The exact solutions of the coupled KdV equation system (1.1) are obtained:

$$u = \frac{3\sqrt{6}(x-t_0)^2}{4(t_1 t + t_2)^{3/2}} + \frac{t_1(x-t_0)}{2(t_1 t + t_2)},$$

$$v = \frac{3\sqrt{6}(x-t_0)^2}{4(t_1 t + t_2)^{3/2}}.$$

Case 2(G):

$$\phi = \frac{u}{x-t_1}, \varphi = \frac{v}{x-t_1}.$$

i.e.

$$\underline{v} = \frac{\partial}{\partial x} + \frac{u}{x-t_1} \frac{\partial}{\partial u} + \frac{v}{x-t_1} \frac{\partial}{\partial v}.$$

the solution of the coupled system (1.1) takes the form:

$$u = (x - t_1)U(t), v = (x - t_1)V(t).$$

The symmetry reduction equations are

$$U' = -2U^2 - 2UV, V' = -2V^2 - 2UV.$$

The exact solution of the system (1.1):

$$u = -\frac{x-t_1}{t_2 t + t_3}, v = \frac{(2+t_2)(x-t_1)}{2(t_2 t + t_3)}.$$

Case 2(H):

$$\phi = -\frac{1}{t_1 t + t_2}, \varphi = \frac{t_1 + 2}{2(t_1 t + t_2)},$$

i.e.

$$\underline{v} = \frac{\partial}{\partial x} - \frac{1}{t_1 t + t_2} \frac{\partial}{\partial u} + \frac{t_1 + 2}{2(t_1 t + t_2)} \frac{\partial}{\partial v}.$$

The solution of the coupled system (1.1) takes the form:

$$u = U(t) - \frac{x}{t_1 t + t_2}, v = V(t) + \frac{(t_1 + 2)x}{2(t_1 t + t_2)}.$$

The symmetry reduction equations are

$$U' = -\frac{(t_1 - 2)U}{2(t_1 t + t_2)} + \frac{V}{t_1 t + t_2}, V' = -\frac{(t_1 + 2)U}{2(t_1 t + t_2)} - \frac{(t_1 + 1)V}{t_1 t + t_2}.$$

The exact solution of the system (1.1):

$$u = -\frac{x}{t_1 t + t_2} + \frac{t_1 t_3}{t_1 t + t_2} + \frac{\sqrt{t_1 t_4}}{(t_1 t + t_2)^{1/2}},$$

$$v = \frac{(t_1 + 2)x}{2(t_1 t + t_2)} - \frac{t_1 t_3 (t_1 + 2)}{2(t_1 t + t_2)} - \frac{\sqrt{t_1 t_4}}{(t_1 t + t_2)^{1/2}}.$$

Case 2(I):

$$\phi = \frac{u}{x + t_1 t + t_2} + \frac{v}{x + t_1 t + t_2} + \frac{t_1}{2(x + t_1 t + t_2)}, \varphi = 0,$$

i.e.

$$\underline{v} = \frac{\partial}{\partial x} + \frac{u}{x + t_1 t + t_2} + \frac{v}{x + t_1 t + t_2} + \frac{t_1}{2(x + t_1 t + t_2)} \frac{\partial}{\partial u}.$$

The solution of the coupled system (1.1) takes the form:

$$u = (x + t_1 t + t_2)U(t) - V(t) - t_1/2, v = V(t).$$

The symmetry reduction equations are

$$U' = -2U^2, V' = -UV.$$

The exact solution of the system (1.1):

$$u = \frac{x + t_1 t + t_2}{2t + t_3} - \frac{t_4}{(2t + t_3)^{1/2}} - \frac{t_1}{2}, v = \frac{t_4}{(2t + t_3)^{1/2}}$$

Case 2(J):

$$\phi = 0, \varphi = \frac{1}{2(t - t_0)}.$$

i.e.

$$\underline{v} = \frac{\partial}{\partial x} + \frac{1}{2(t - t_0)} \frac{\partial}{\partial v}.$$

The solution of the coupled system (1.1) takes the form:

$$u = U(t), v = V(t) + \frac{x}{2(t - t_0)}.$$

The symmetry reduction equations are

$$U' = -\frac{U}{2(t - t_0)}, V' = -\frac{2V + U}{2(t - t_0)}.$$

The exact solution of the system (1.1):

$$u = \frac{x}{2(t - t_0)} - \frac{t_1}{2(t - t_0)} - \frac{t_2}{\sqrt{2(t - t_0)}}, v = \frac{t_2}{\sqrt{2(t - t_0)}}.$$

In summary, we have proved that for the coupled KdV equation system (1.1) the nonclassical method yields to symmetry reductions which are unobtainable by using the Lie classical method and the exact solutions obtained are not group invariant solutions. Consequently, we have proved that the nonclassical method is effective for PDEs.

## Acknowledgements

Project supported by the National Natural Science Foundation of China (Grant No: 10071033) and Natural Science Foundation of Jiangsu Province, China (Grant No: BK2002003). The Project of Technology Innovation plan for Postgraduate of Jiangsu Province in year 2006 (No:72).

The author appreciates Prof. L. X. Tian for his helpful discussions.

## References

- [1] D.P. Ding, L.X. Tian: The study of solution of dissipative Camassa-Holm equation on Total space. *International Journal of Nonlinear Science*. 1(1), 37-42(2006)
- [2] L.X. Wang, J.B. Zhou , L.H. Ren: The exact solitary wave solutions for a family of BBM equation. *International Journal of Nonlinear Science*. 1(1), 58-64(2006)
- [3] X.H. Fan, L.X. Tian, L. H. Ren: New compactons in nonlinear atomic chain equations with first-and-second-neighbour interactions. *International Journal of Nonlinear Science*. 1(2), 105-110(2006)
- [4] D.C. Lu, B. J. Hong, L. X. Tian: Bäcklund transformation and N-soliton-like solutions to the combined KdV-Burgers equation with variable coefficients. *International Journal of Nonlinear Science*. 2(1), 3-10(2006)
- [5] S. Lie: Über die integration durch bestimmte integrale von einer classe linearer partieller differentialgleichungen. *Arch. Math.* 6 , 328-368(1881)
- [6] G.W. Bluman, J.D. Cole: Similarity methods for differential equations. *Springer-Verlag: Berlin* (1974)
- [7] G.W. Bluman, S. Kumei: Symmetries and differential equations. *Springer-Verlag: Berlin*(1989)
- [8] P.J. Olver: Applications of Lie groups to differential equations. *Springer-Verlag: Berlin* (1993)
- [9] L.V. Ovsjannikov: Group analysis of differential equations. *Academic Press: New York* (1982)
- [10] G.W. Bluman, J.D. Cole: The general similarity solution of the heat equation. *J. Math. Mech.* 18 , 1025-1042(1969)
- [11] M.C. Nucci, P.A. Clarkson: The nonclassical method is more general than the direct method for symmetry reductions: an example of the Fitzhugh-Nagumo equation. *Phys. Lett. A* 164 , 49-56(1992)
- [12] S.Y. Lou: Nonclassical symmetry reductions for the dispersive wave equations in shallow water. *J. Math. Phys.*, 33(12),4300-4305(1992)
- [13] S. Y. Lou, B. Tong, H-c Hu and X-y Tang: Coupled KdV equations derived from two-layer fluids. *J. Phys. A.: Math. Gen.* 39, 513-527 (2006)
- [14] S. P. Qian, L. X. Tian: Lie point symmetries and exact solutions of couple KdV equations. *Commun. Theor. Phys.* (in press)
- [15] P.A. Clarkson, E.L. Mansfield: Algorithms for the nonclassical method of symmetry reduction. *SIAM J. Appl. Math.* 55 ,1693-1719(1994)